Installationsanleitung

Seiteneinstieglseistenset ‘
Installation Instruction ﬂ E RD K LA s
Kit side step
Fiir :
. NISSAN NAVARA
For :
AEROKLAS 319121300001 25/06/2018 1/5

REV.01



~ © (q\]
X © = X
— o)
T =g Q|
z3 SE @‘
xS SW
N E 55
X T Z X
L - -
S
N
x| = N 3
o} = S

- | £53
T bl == 5
-z © N w
¥ $ )
< 2 =0 <
W £ @ E
@ T ==

29
— 6D
L S o
o = D
- X 3

) =5 S
s o 5 o
- =2 € A‘ N
TAHIVER
= S S ™
= Z

© N
= %

2 n
- = <
pd P -l
o Gm %WW X
o =8 o
- 14

S
O O %

REV.01



1 Mit Fahrzeugschrauben

With vehicle screw

Ohne Fahrzeugschrauben
Without vehicle screw

\ y ¥

AEROKLAS

319121300001

25/09/2017

3/5

REV.01




Mutter M8

= Mutter M8
Mutter M8 Mutter M8 ' Nut M8 Nuthe

Nut M8 i Nut M8

Rear Bracket

Front Bracket Hinten
Front Bracket Middle Bracket Vorne
Vorne Mitte
Mit Fahrzeugschrauben
With vehicle screw
Mutter M8
Mutter M8 Nut
Mutter M8 Mutter M8 Nut M8 ) ute
Nut M8 ) Nut M8

Rear Bracket

Front Bracket Hinten
Middle Bracket Vorne
Vorne Mitte
Ohne Fahrzeugschrauben
Without vehicle screw
X6
12 Nm. Pro Seite / Per Side
ZAEROKLAS 319121300001 25/09/2017 4/5

REV.01


watiyat
Rectangle

watiyat
Stamp


Achten Sie darauf, die Lackierung nicht zu beschéadigen.

Ziehen Sie die lose Schrauben zwischen den Halterungen Seitenlstufe auf Lochposition anpassen
A und Fahrzeug flr jede Position der Halterung fest. ADJUST SIDE STEP NISSAN HOLE POSITION
BE CAREFUL NOT TO DAMAGE THE PAINT WORK 4 e

TIGHTEN LOOSE SCREW BETWEEN BRACKET —
AND VEHICLE FON EACH POSITION OF BRACKET

‘Achtung: Fahrezug Seitenleiste ist links und rechts spiegelgleichd

NOTE : VEHICLE NOT SHOWN FOR CLARITY
LHS SHOWN RHS SYMETRICALLY OPPOSITE

Unterlegscheibe OD 16 mm x 6 Pcs / Pro seite
Washer OD 16 mm x 6 Pcs / Per side

)
1
1
1
1

Unterlegscheibe M 6 x 6 Pcs / Pro seitef
Washer M 6 x 6 Pcs / Per side

=]
REMARK : 1.) Nach Anpassen der Seitenleiste & &
an den Lochern, die Schrauben der Klemme
und Seitenleiste anziehen
2.) Alle Schrauben anziehen
3.) Film von der Chromleiste entfernen

REMARK : 1.) AFTER ADJUST SIDE STEP FOR NISSAN HOLE THEN

AN TIGHTEN LOOSE SCREW BETWEEN BRACKET AND SIDE STEP
R\ 2.) TIGHTEN SCREW FOR ALL POSITION
X 6 3.) FINALLY, PLEASE PEEL CLEAR FILM OFF FROM PVC CHROME STRIP.

2 Nm Pro Seite / Per Side

=720 || Ve e == =
==Y LI . P o
< ‘-\-",“ S E— Y — oz | ' ; ".. 7 \‘ '.'
For Rear £
Bracket NALE{ZT '\
Vorne  NISSAN Vorne .
For Middle (For Front
NissaN ¢ Bracket ) NISSAN "Bracket)
Mitte Vorne
JAEROKLAS 319121300001 25/09/2017 5/5

REV.01



